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Note: Attempt all questions,
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Question Paper)
Use seporate answer books fo; each section,

Section-A Marks: 50)

L. Desceribe the connections and functions of bagal ganglia, Discuss the etiology, clinical
lcatures and treatment of Parkinson's discase, 12
2. Short answer questions:

(4x5=20)
() Properties ol sensory receplors
1) Brown-Sequard syndrome

Phototransduction

iypothalamus in temperature regulation,

3. Explain differences between two physiological processes:

(3x4=12) s,
(a) Presynaptic inhibition and Post synaptie inhibition
(b) Streteh reflex and withdrawal reflex o
(¢) Broca’s aphasia and Wernicke’s aphasia, b
4. Problem based MCQ: (3x2=6) &

(a) While performing a neurological examination on a 42-year old patient, the
clinician asked him to walk across the examination room and noticed unsteady
gait. Next, he asked him to stand stil] with his feet together and eyes closed and
noted marked swaying back and forth. When the patient opened his eyes, tbc

swaying persisted. Vibration sense was normal on all four limbs. This clinical
picture is likely due to damage to which of the following structures?

(1) Ventral horn of the spinal cord (1) Cerebral peduncles
(ii1) Dorsal column (iv) (Jcrcr)lelum ‘ ‘ ).,
@1 otorhinolaryngologist was examining a patient for hearing loss and noticed &\?o"
that the Rinne test was negative in the left ear and \&cher test shn.wcd .ﬁs\,v
lateralization to the right ear. This clinical picture is consistent with: \ o
(1) Wax filled in the external auditory meatus :
(1i) Perforation of the tympanic membrane Ao
(iii) Disruption of the ear ossicles O
(iv) Lesion of the cochlear nerve . | | i ) )
(¢) Last week you celebrated college foundation day in which you participated in o

many events and enjoyed a lot with your friends. One of your friends could not
attend the event as he has gone home. When he retumed', he as.ked you abOLf;
your experience in the event. Enthusiastically you exp!amed hnr? all aE)o‘uL y ;)}Jr .
experience in the college foundation day. This form of memory is an example of:
(1) Implicit memory (ii) Episodic memory
(11i) Semantic memory  (iv) Procedural memory

P.T:O.
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9 LS_L“bL' _th Process of synthesis of glucocorticoids
glllcocnrlncoids. Add

and discuss the functions of

a brief note on Cushing’s syndrome. (3+5+4=12)

0. Write short notes on the lollowing: 4x5=2(
(@) Aldosterone escape p ey
Milk ejection reflex

Action of insulin on glucose metabolism

(@) Ovarian changes during menstrual cycle.

7. Explain the physiological basis of: (3x4=12)
(a) Osteoporosis in clderly women
(b) Use of oral contr

aceptive pills as an effective contraceptiy
(¢) Control of basa]

€ method
metabolism by Thyroid hormones.

8. Multiple choice questions (Select most appropriate option):

(@) A 2 year old child is brought to Pediatrics OPD with yellow

skin on entire body. The sclera of his eyes is however not di

appearance. Which of the
condition?

(3x2=6)
1sh discoloration of
scolored and white in
following statements best explains the patient’s present

(i) The condition has appeared due to increased breakdown of
(ii) There is increased accumulation of carotene in this patient
(iii) The child might be suffering from defective bile metabolism
(iv) The hepatic conversion of carotene to vitamin A is defective due to
hyperthyroidism.

erythrocytes

(b) A 30 year male patient came to medicine OPD with complains of severe fat.igue
and loss of appetite. He was previously on treatment with glucocorticoids since

6 months. What can be the most probable abnormality associated with prolonged
glucocorticoid therapy?

(1) Adrenal glands become atrophic with prolonged treatment with
glucocorticoids ‘ |
(i1) ACTH levels are very high in this patient |
(iii) Adrenal glands become hyper responsive to prolonged treatment with
glucocorticoids . |
(iv) There are increased adrenal medullary secre ions seen in such cases.

(c) Testosterone is responsible for producing d istinguish'ix‘]g characlcris'lics of the
masculine body. Which of these defects is produced if testosterone is not
produced or inadequately secreted?

(1) It will increase bone matrix

(i) It may cause increase in erythrocyte count
(1i1) It may produce increased skin thickness
(iv) It may lead to failure in descent of testes.
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Physiology
l

Fapel Full Marks: 100 |

Time: - Three Hours
: : > recel | estion Paper)
(Write your Roll No. at the top immediately on the receipt of this Qu p

Note: - Use Separate Answer Books for Each Section.

Section-A
Define cardiac cycle. Describe the various phases of cardiac cycle. 3+9=12

Q.1
Q.2 | Write short notes on: 4X5=120
(a) Inverse stretch reflex
(b) Hemostasis
(¢) Nerve growth factors
(d) Hypovolemic shock

Q.3 ' Compare and Contrast between: 3X4=12

(a) Acquired and innate immunity
(b) Active and passive transport
(¢) First and sccond heart sound

I
(o))

Q.4 | Multiple choice questions (Select most appropriate option): 3 X2

| (a) A person slept with his head over forearm. Next morning, he

: complains of tingling and numbness in forearm. It is caused by:
(1) Sensitivity to hypoxia A>B=C
| (11) Sensitivity to pressure A>B>C
| (1v) Sensitivity to pressure B>A>C
(b) A person with 65 Kg weight has haematocrit reading of 40 %
and plasma volume of 3 litres. What is his total blood volume?
| (1) 4.0 litres
| (11) 5.0 litres
| (iii) 6.0 litres
(iv) 7.0 litres
| (¢) During heavy exercise, the cardiac output increases up to five-
| fold while pulmonary arterial pressure rises very little. This
| physiological ability of the pulmonary circulation is best
‘ explained by:
(i) Rcc..rumncnt of more capillary and dilatation of pulmonary
| capillary
| (1) Sympathically mediated greater distensibility of pulmonary
,' vessels
} (111) Large amount of smooth muscle in pulmonary arterioles
!
|

(1v) Smaller surface area of pulmonary circulation

PT.O-
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Section-B
Q.1 What is oxygen saturation of hemoglobin? Describe the mechanisms of  1+4+4+3=12
oxygen transportin blood. Describe in brief regarding oxygen
hemoglobin dissociation curve. Write the salient physiological :
differences between oxygen-hemoglobin and oxygen-myoglobin
dissociation curves.
Q.2 Write short notes on: 4X5=120
(a) Dietary fibers
(b) Glomerulo-tubular balance
(c) Peptic ulcer disease
(d) Renal clearance
Q.3 Explain the physiological basis of following statements: 3X4=13
(a) Tubular maximum (Tm) for glucose in practice is actually less
than the calculated value
(b) Surgical resection of terminal part of small intestine may cause
megaloblastic anemia
(c) Plasma bicarbonate level rises after food
Q.4 Multiple choice questions (Select most appropriate option): 3 X 2=6

(a) This is a radiograph from a patient with bilateral ureteric
obstruction leading to hydronephrosis. The GER was also
reduced in this patient. Which one of the following pressure

(1) Decreased glomerular hydrostatic pressure

(11) Increased glomerular oncotic pressure,

(ii) Increased Bowmen’s capsule hydrostatic pressure.
(1v) Decreased Bowmen's capsule oncotic pressure.

(b) A normal healthy subject makes an inspiratory effort against closed
airway, you would expect following to oceur:
(i) Internal intercostal muscles contract
(ii) Intrapleural pressure becomes more negative
(i11) Pressure inside pulmonary capillaries falls
(iv) Alveolar pressure falls more than intrapleural pressure

(¢) Which of the following conditions lead to tissue hypoxia without

alteration of oxygen content of blood:
(i) Carbon mono-oxide Poisoning
(i1) MClhcmoglobin'cmfa

(iii) Cyanide poisoning

(iv) All of the above

www.whitecoatw
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(Total marks=100) Time: 3 hours

Attempt all questions, draw suitable diagrams wherever required

Section A:

Q.1. Describe the characteristics of EEG waves during awake and sleep states. Provide a
comparative account of REM and NREM sleep. (6+6=12 marks)

Q.2. Write short notes on: (4x5= 20 marks)
A. Withdrawl reflex

B. Impedance matching mechanism in middle ear
C. Bioenergetics

D. Parameters of growth chart //
f
Q. 3. Explain differences between the following: (3x4= 12 marks) /

A. Upper and lower motor neuron lesions
B. Conductive and sensory-neural hearing loss
C. Isotonic and isometric exercisce

Section B:

Q. I. Describe the synthesis, transport and mechanism of action

of Growth Hormone. Also
discuss the Physiological actions of the Growth Hormones

(6+6= 12 marks)

Q. 2. Write short notes on: (4x5= 20 marks)
A. Cardiovascular changes in pregnancy
B. Physiology of lactation
C. Pseudohermaphroditism
D. Communication skill of a doctor in clinical practice

Q.3. Explain the physiological basis of given statement

S
-

3%4= 12 marks)
A. Amenorrhea is observed in the lactating mother
B. There is an increase in the basal body temperature 1to 2

2 days after ovulation
C. Hypothalamo-hypophyseal portal system is a physiological need of hypophysiotropins

www.whitecoatwrit
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Attempt all questions, draw Suitable diagrams wherever required

Sechon A\

/

I W hat 15 shock? What are different types of shock? Discuss compensatory mechanisms that operate after
’ dlood [oss of 600 mL.

(2+4+6=12 marks)
;
| Q.2. Write short notes on: (4%5= 20 marks)
A. Nemnst equation and its application
B. Blood transfusion
f Heart sounds

Properties of mammalian nerve fibres

Q. 3. Explain differences between the following: 3x4= 12 .
£ (3%4= 12 marks)
4{ Voltage gated and ligand gated channels
AT -
8B Tand B-lymphocytes

{J. Red and white muscle fibres
Section B:
Q. 1. A 55-vear-old m

becomes worse during

1S worse in the momin

an comes to the clinic complaining of f
exercise. The patient has a history of re
g. The patient has smoked cig
one pack of cigarettes a day. On physical ex
respiratory rate and shallow breaths. An end
tests: FEV1% = 60%. PEFR= 55 % of
Hg, PCO; 48 mm Hg, HCO;

atigue and persistent shortness of breath, which
spiratory infections and has a chronic cough that
arcftes since he was a teenager. Currently he smokes about
amination, patient is in mild respiratory distress with an elevated
-expiratory wheeze is heard on auscultation. Pulmonary function
predicted, Chest radiograph: Normal, Arterial blood gases: PO; 75 mm
=36 meg/L, pH 7.32. (1+2+1+4+4= 12 marks)

A. Identify the respiratory disorder depicted in the above mentioned case
B. Justify your diagnosis with physiological explanation
C. Identify the type of acid base disorder in this case
D. Draw one labeled schematic flow volume
E. Describe the w orking principle
volumes and capacities.
Q. 2. Write short notes on:

/2« Tubuloglomerular feedback

loop for such kind of disorders
of normal spirometer for recording of dynamic one breath lung
(4x5= 20 marks)

Chloride shift
C. Liver function tests
. Countercurrent system

(3x4= 12 marks)
Long term use of proton pump inhibitors may cause anaemia
Exercise may cause hyperkalemia

Q.7plain the physiological basis of given statement
B. |
'ﬂ Stagnant hypoxia causes increased a-v O; difference

REDMI NOTE10S | 27/04/2022
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EXAMINATION. 2020

FULL MARKS: 100
ipt of this Question Paper)

at the top inm]cdiulcly on the rece

NOTE:

- USE SEPARATE ANSWER BOOKS FOR EACH SECTION.

Section-A Marks: 50
Note: - Attempt all questions.

I. Describe the card;i

4C oulput and the factors dete
regulatory mech

anisms which maintain cardi

rmining it. Explain in brief the
ac output during challenging conditions.

(7+5=12)
(4x5=20)

(a2) Homeostasis

(b) Plasma proteins

(¢) Latch bridge phenomenon in smooth muscle

(d) Pacemaker potential.

2. Write short notes on:

1

3. Compare and contrast between: '
(a) Action potentiai and electrotonic potential

(b) Sharp pam and dull pain
(c) Tetanus 4and clonus.

-

(3xd=12)

‘ .l =Y 1 e (24‘3:6)
4 1\4[)1pr"¢' choice qucsli(ms (Select most approprlat} O;:‘Iloj;i)l-w nhertight Fr
g . , —— ‘periencinge |nL 24 = =
) A 50 years old female had been experiencing tingling s i
| a) A 50 years old fer reak. Her physician advised the
| < )1"urlhcr her wrist and hand had become weak. Her physician

; syndrome. Which of the
Tt [ nerve conduction velocity for carpal tunnel syndrome. Which o |
cvaijuation ol ne CONAaucil 3 s ~
- 1ther ha S conduction ve OLll_\.
ollowing nerve fiber has s ey ‘A C Fibers M
: - “bers (11) AP libers (111) B fibers (1v) C fibe &
(1) Aa fibers ) AP O
; : -
hich of the following parameter
Jn increasing the radius of resistance vessels, which of the following ps g
(b) On increasing the radiu S
IS (]{]\L;Ld:k'“» BPp (11) Diastolic Bl v ~
1) Systolic v) Capillary blood flow e
(111) Viscosity of the blood (1v) Capillary

e synthesized primarily in the liver?
(c) Which of the following plasma proteins is not synthesized primarily
£1) Angiotensin II converting enzyme
(1) Angiotensinogen
(ii1) IGF-I
(iv) Fibrinogen

2R e 2
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1" Terminal (Sessional) M.B.B.S. Examination
(January 2021)

PHYSIOLOGY

PAPER-
Time: 3 hours Full Marks = 100

NOTE: USE SEPARATE ANSWER BOOKS FOR EACH SECTION
Attempt all questions

SECTION-A Marks = 50

Define Blood Pressure. Explain in brief regarding short term mechanisms of 2+10=12
blood pressure regulation "
2 Write short notes on 4 X 5= 20
a). Blood transfusion
Z , b). Excitation contraction coupling in skeletal muscle
%, - c). Resting membrane potential
:"2,"" ; . d). Windkessel effect- 7. < .
. % : Compare and differentiate between I A 4=12
Y %% a). Pnmary and secondary active transport
RS b). First and second heart sound
% ";, 4 c). Humoral and cellular immunity
s %, - Multiple choice questions ( Select most appropriate option) 3X2=6
% :
”’»;,, a) Dicumarol is a drug that impairs the utilization of vitamin K by the Iwer
: :; Dicumarol therapy, therefore, would decrease the plasma concentration of
% %, which of the following procoagulants?
> ,;/ ,2‘: T Prothrombin
Y ’4{ 1 Fibrinogen
a,// ) < Antihemopilic factor (factor Vili)
2 . v Ac-globulin (factor V)
2
! b) Edema could be caused by all of the following exceptl
: High arterial blood pressure (hypertension)
' Leakage of plasma proteins into the tissue fluid, as in inflammation
and allergy
2/( i An elevated level of albumin in the blood plasma
”;,/ v An obstruction of the lymphatic drainage
), o
("? % c) Myxedema is a disease caused by hypothyroidism, WhHICH Causes
Z. production of excessive amount of glycoprotein in the interstitial spaces.
% The effect of this on capillary fluid dynamics would be (0 Cause
: | Precapillary sphincters to shut off blood flow t@ affected tissues.

7 I Vasodilation of the capillanes 3
Reduced osmotic return of fluid and thus accumulation of fiuid in

c I,
o 7 the tissues resulting In edema :
7 v Increased transfer of tissue fluid into the bloodsiream, resulting in
hypertension 7
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ACH SECTION

Time: 3 hours

JISE SE PARATE ANSWER BOOKS FORE

o Attempt afl questions

SECTION-A Marks = 50

Lt , -
i Describe the genesis and characteristics of EEG waves Ariefly explan th
clinical use of EEG
g Write short notes on
a) Inverse stretch reflex

h). Hearnng defects and heanng tests
c). Parkinsonism

d). ApOplOSIS
3 Compare and differentiate between.
a). Myopia and hypermetropia
). Fast and SIowW pain

-

¢). Hypoxic and anemic hypoxia

Multiote choice questions ( Select most appropriate option)
a). Fastest agapling cutaneous receplor Is:
. Pacinian corpuscie

i. Merkel's disC

i Ruffini's end organ

v Free nerve ending
b). A 22 year male patient was detected a brain tumor in close vicinity to

hypothalamus and the same Wwas successfully removed Dy
neurosurgery. However, during the procedure, there was inadvertent
damage to a hypothalamic nucleus. After recovery, the patient started
eating voraciously and developed obesity. Which one of the following
nypothalamic nuclei might have been damaged in this patient?
| Ventromedial
J Lateral
Iii Anterior
v Posterior
. A 58 year old male patient was suffering from a severe form of major
depression and was refractory to antidepressant medications. He was
admitted in the Psychiatry ward and was provided ECT (Electro
convulsive therapy). After his recovery he was not able to remember
the event immediately preceding ECT but could retrieve remote
memory. This short term memory loss was due to inadequate memory
processing in
i. Cingulate gyrus
it. Hippocampus
iil. Mamilary body
iv. Amygdala

P

S

745=12

4 X 5= 20

3 X 4=12

3 X2=6
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(Total marks=100)

‘ '3 uitable diagrams rever required
Attempt all questions, draw suitable diagrams wherever req

Section A:

1 . » N 2 B QO ) ' » 7

Q.1. Describe the characteristics of EEG waves during awake and sleep :s.l.cuu(s.(l r<l);1d(, dk
parat ‘RE ‘M slee +6=12 marks
comparative account of REM and NREM sleep. ( arks)
(4x5= 20 marks)

Q.2. Write short notes on:

A. Withdrawl reflex nallonl
B. Impedance matching mechanism in middle ear

C. Bioenergetics
D. Parameters of growth chart

Q. 3. Explain differences between the following: (3%x4= 12 marks)

A. Upper and lower motor neuron lesions
B. Conductive and sensory-neural hearing loss
C. Isotonic and isometric exercise

Section B:

Q. 1. Describe the synthesis, transport and mechanism of action of Growth Hormone. Also
‘ discuss the Physiological actions of the Growth Hormones (6+6= 12 marks)

Q. 2. Write short notes on: (4x5= 20 marks)

A. Cardiovascular changes in pregnancy

B. Physiology of lactation

C. Pseudohermaphroditism

D. Communication skill of a doctor in clinical practice

Q.3. Explain the physiological basis of given statement (3%4= 12 marks)

A. Amenc.mhea is observed in the lactating mother
B. There is an increase in the basal body temperature 1to 2 days after ovulation
C. Hypothalamo-hypophyseal portal system is a physiological need of 1 hypgphygioj;mpingﬁ

-
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PAPER-I
IMI FTIRELE HOURS FULL MARKS: 100
¢ receipt of thns Question Paper)

(Write your Roll No. al the top immediately on tl

()11 LIS SEPARATI A\NSWER BOOKS FOR EACH SI CTTION.

Section-A Marks: S0

\ll:'ll!g". |H (Juit SLIONS.,

ermining it. Explain in brief the

allenging conditions.
(7+5=12)
(4x5=20)

cribe the cardiac output and the factors det

M
iac output during ch

regulatory mechanisms which maintain card

~Write short notes on.
¢(a) Homeostasts
~ (b) Plasma proteins
;_{_ ) lrew : :
,‘\)u) Latch bridge phenomenon in smooth muscle
=(d) Pacemaker potential.

a
>

®)
3. Compare and contrast between: (3x4=12)
_&1 a) Action y‘»m-rmin\ and electrotonic pfjl._-;mi:ﬂ
~ (b) Sharp pain and dull pain
“’ (¢) Tetanus and clonus.
(2x3=0)

lecl most appropriate option):
been experiencing tingling in her right fingers.
Her physician ady ised the
al tunnel syndrome. Which of the

§. Multiple choice queslions (Se
(a) A 50 years old female had
her wrist and hand h
conduction velocity for carp
s slowest conduction velocity?

(111) B fibers

Further. ad become W eak.

evaluation ol nerve
following nerve fiber hi

(i1) AP fibers (v C fibers

(1) Aa fibers
(b) On increasing the radius of resistance vessels, which of the following parameter
is increased?

(i) Systolic BP (ii) Diastolic BP

(iit) Viscosity of the blood (Iv) Capillary blood flow

(¢) Which of the following plasma proteins is not synthesized primarily in the liver?
(1) ‘Angiulcnsin || converting enzyme
/  (i1) Angiotensinogen
(111) 1GF-1
(iv) Fibrinogen

P.T.0.
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I Terminal (Sessional) M.B.B.S. Examination
(January 2021)

PHYSIOLOGY

PAPER-II

Time: 3 hours Full Marks = 100

NOTE: USE SEPARATE ANSWER BOOKS FOR EACH SECTION
Attempt all questions

SECTION-A Marks = 50
Describe the genesis and characteristics of EEG waves Briefly explain the 7+5=12
clinical use of EEG
Write short notes on: 4X5=20
a). Inverse stretch reflex.

"

D). Hearing defects and hearing tests
C) Parkinsonism
d). Apoptosis
Compare and differentiate between: 3 X4=12
a). Myopia and hypermetropia
b). Fast and slow pain
C). Hypoxic and anemic hypoxia
Muiltiple choice questions ( Select most appropriate option) 3 X2=6
a). Fastest adapting cutaneous receptor is
: Pacinian corpuscie
i Merkel's disc
lii, Ruffini's end organ
\v. Free nerve ending : o
b). A 22 year male patient was detected a brain tumor in close vicinity to
hypothalamus and the same was successfully removed by
neurosurgery. However, during the procedure, there was inadvertent
damage to a hypothalamic nucleus. After recovery, the patient started
eating voraciously and developed obesity. Which one of the following
hypothalamic nuclei might have been damaged in this patient?
I. Ventromedial
. Lateral
lil. Anterior
v, Posterior :
). A 58 year old male patient was suffering from a severe form of major
depression and was refractory to antidepressant medications. He was
20mitted in tha Psychiatiy ward and was provided ECT (Electro
convulsive therapy). Al Tis teovery L was net able to remember 5
but could retrieve remote
s due to Inadequate memory

the event immediately preceding eCYT
memory. This short term memory loss wa
processing in

i. Cingulate gyrus

i, Hippocampus

lii. Mamilary body

. Amyqdala
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(Write vour Roll No, at the 1op

Section-A Muarks: S0

Note: - Attempt all questions
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signs and symptoms of cerchullar disorders

2. Write short notes on: (AxS 1))
(a) Color vision
(b) LG
(¢) Effect of exercise on cardio-respiraton functions
(d) Stretch retlex
(3x4-12)

3. Explain differences hetween two physiological processes.

Fluent aphasia and non
(b) Conductive dealness and sen
(¢) Upper motor neuron lesion and lower motor neuroin lesion

(luent aphasia
corincural dealness

multiple choice questions: (2x370)

Howmg
applied to the hand and oot

wwer for the 1o

4. Select the most appropriate at
a painful stimulus was

(a) During examination, when
imbs occurred I11s
(ii1) Stretch retlex

{ a patient, W ithdrawal ot |
(1v) Golel tendon reflex

(8]
(1) Extensor reflex (i1) Flexor rellex

(b) Most of the living cells n plants and animals have rhythmic fluctuations in then
readian cycle. This circadian rhythms according to the light
dark cycle 1s maintained by one of the following

1i")'l halamus (ii) Ventrolateral nucleus

(111) .\'upruchi:\sm;uic nucleus (iv) Supraoptic nucleus

funcuon with a circe

(c) Wallerian degeneration occurred 1 a person after an injury. [L18
(i) Muscle degeneration

(i1) Nerve degeneration

(in) Muscle rcgcncmlinn

(iv) Brain degeneration

P.T.0.
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Section-3 |
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glucocorticonds \dd abriel note o ¢ ushing's syndrome
0. Write short notes ™ the following:
(8) Aldosteront eseape
(b) Milk ciection reflex
() Action 0! insulinEen t”‘"lmsc metabolism
d) Ovarian changes during menstrual cycle.
(3x4-12)

Explain the physiological basis of:

(&) Osteop : : PR, |
(b) Use of oral contraceplve pills as an effective contraceptive !
of basal metabolism by Thyroid hormones.

\msi.\ in \‘ldt‘l'l_\ women
nethod

(¢) Control
(3%x2=0)

8. Multiple choice qtls“\lm!l-\‘.(‘\'&‘lccl MOost appropriate option): .
(a) A 2 vear old child 1s brought to Pediatrics OPD with yellow!s
skin on entire body. The sclera of his eyes is however not discol
appearance. Which of the ‘bllﬂ\\"ing statements best cxplains the p

h disu‘)lurzuinn ol
ored and white 11
atient’s present

condition?
(i) The condition has appeared due to increased breakdowr
_ (ii) There is increased accumulation of carotene in this paticnt
(iii) The child might be suffering from defective bile metaboh.sm |
(iv) The hepatic conversion of carotene to vitamin A 1S L_icl'cgll\'g dqc‘: to

-

hyperth) roidism. 5

n of erythrocyltes

= o~ .-

{(b) A 30 year male patient came to medicine OPD with complains nfsc.\'cxjc latigue

" and loss of appetite. He was previously on treatment with glucocorticoids since
6 months. What can be the most probable abnormality associated with prolonged
glucocorticoid therapy?

(1) Adrenal glands become atrophic with prolonged treatment with
glucocorticoids

(1) ACTH levels are very high in this patient »

(111) Adrenal glands become hyper responsive to prolonged treatment with
glucocorticoids e st

(1v) There ar€ increased adrenal medullary secrelions seen in such cases.

/

(¢) Testosterone is responsible for producing distinguishing characteristics of the
masculine body. Which of these defects is produced if testosterone is not
produced or inadequately secreted? F

(1) 1twill increase bone matrix
({{_) It may cause Increase in erythrocyte count
(iii) It may produce increased ;kin lh'ickncss

¢ (1v) It MBYNead 46 failure in descent of testes. ¢
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First professional M3 BLS, (1 Semester) Examination, 202
I"hysiology
Paper-|]
Lime: < Three hours Full Marks: 100
(Write vour Roll No. at the top immediately on the receipt of this Question Paper)
Note: - Use separate answer books for each section.

Note \ttempt all questions
section-A Marks: 50

| Describe the connections and functions of basal ganglia. Discuss the etiology, clinical
|2

features and treatment of |'-\|'|\'lll.’~nn'.\‘ disease.
(4x5=20))

Short answer questions

(a) }‘(\\‘\'”u'\ Of sensor) I'L‘CL‘Pl()I’.\'

(b) Brown-Sequard syndrome

(¢) Phototransduction

(d) Role of hypothalamus in temperature regulation.

). Explain differences between two physiological processes: (3x4=12)

(@) Presynaptic inhibition and post synaptic inhibition

(b) Stretch reflex and withdrawal reflex

(¢) Broca’'s aphasia and Wernicke’s aphasia.

4. Problem based MCQ: (3x2=6)

(a) While performing a neurological examination on a 42-year old patient, the
clinician asked him to walk across the examination room and noticed unsteads
gait. Next, he asked him to stand still with his feet together and eyes closed and =
noted marked swaying back and forth. When the patient opened his eves. the e
swaying persisted. Vibration sense was normal ¢n all four limbs. This clinical
picture 1s likely due to damage to'which of the following structures?

(1) Ventral horn of the spinal cord (11) Cerebral peduncles -
(111) Dorsal column (1v) Cerebellum ~

(b) An otorhinolaryngologist was examining a patient for hearing loss and noticed
that the Rinne test was negative in the left ear and Weber test showed
lateralization to the right ear. This clinical picture is consistent with:

b
o

///f/ o
: e

-
"4

(1) Wax filled in the external auditory meatus é S 1 Py
(11) Perforation of the tympanic membrane = Y VRS
(111) Disruption of the ear ossicles g [

) ' L L,Aﬁ'?'

(1v) Lesion of the cochlear nerve »
(¢) Last week you celebrated college foundation day in which you participated in

many events and enjoyed a lot with your [riends. One of your friends could not
attend the event as he has gone home. When he returned. he asked you about
your experience in the event. Linthusiastically you explained him all about
experience in the college foundation day. This form of memory is an exams

(1) Implicit memory (11) Episodic memory '

(111) Semantic memory  (iv) Procedural memory

P IO




Attempt all questions

Draw suitable diagrams wherever required

I Describe hormonal mechanisms that regulate Systemic Arterial Blood Pressure. (8 Marks)

- 2. Worite short notes on (3x5=15)
| A. Jugular Venous Waves

- B. Compliance of lung

C. Tissue macrophage system
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SECTION.g
(Respiratory system, Excretory system, sporty ana exercise phyyi, o Marig,

2 Describe the mechanisms of sodium reabsorption process at vari .
/ Of nephron and mention the diuretics affecting the process — " °%% *Emens,

memon:

). _Oxygen-hemoglobin dissociation curve. - 3X3=9
b)” Acid-hase disturbances.

mi for determining Ventilatory functions of lung.
Explain the physiological mechanisms for the following statements:

JG). Deficiency of lung surfactant may lead to acute respiratory distress
syndrome in infants, ~ o

25

2

2X 3=

\)/ In a programmed exercise test, respiratory rate changes before the
\_,c)/ change in blood gas level, «

PAH clearance test is used to determine renal blood flow. .

MCQ: Mark the single best answer 1X3=3
i) Which one of the following pressures will remain sub-atmospheric during
both inspiratory and expiratory phases of quiet breathing?

A.  Intra alveolar pressure,
B.  Intra abdominal pressure,
- €. Intra thoracic pressure,
"“b. oD. Intra pleural pressure.

Section-
cction-B Mark
LA%escribe chemical regulnliog of respiration

7@,chiti angiotensin mechanism, -
©) Oxygen deficit and oxygen dept.

3. Explain the physiological basis of the following statements: (2x3w8)
L4A) Proximal convoluted tubule (PCT) has a high rate of ox

YEEN Cnr\s'ynpl on
) High V/P (ventilation perfusion) ratio in the apex of Iun} 5
Msiologicd basis of different type of hypoxia. -

4. Multiple choice questions (Select most appropriate options):

(1x3
(a) A major process involved in transport of substance in kidney.
(i) Transepithelial
(i) Transcellular :
(iii) Paracellular

© (iv) Intercellular




AL LESIUNAL ML 1]
5. 4 TR
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W
LWIte your Roll No At the top iy ]
edimtely om 1b
NOTY USE sep “ .2
ARATE ANSW
ER BOOKS
SS FOR EACH w
WO
Section-A
3

Note: - Attempt all questions
A
1. Define cardiac output. Explain in brief the various factor
factors that afy

2. Write short notes on the following
Factors affecting erythropoiesis —
vents that take place at neuromuscular junction during imp

Secondary Active Transport Mechanism

3. Compare and contrast between:
Chronaxie and Rheobase
Helper T-cells and Cytotoxic T-cells

\Wker potential and cardiac action potential, -
Lixd

4. Multiple choice qnutiom.( Sel.ect‘ most appropriate option):
(a) A person sieeps with his right arm under the head. After sometime. he is

due to tingling sensation and pain in his right arm. The type of nery
fiber likely to be involved in this situation is:
V(i) A (ii) € (Dorsal Root) (iii) B (iv) € (Sympathetic)
(b) A 50 year old man came to medicine OPD with complain of dyspnoea on doine
some activity. His blood pressure was measured to be 13092 mmHg. Asa
student posted in the OPD, the consultant asked you to calculate his mean
arterial pressure (MAP) and pulse pressure (PP). What is your result?
(i) MAP -100 mmHg; PP-40 mmHg .
(i) MAP -102 mmHg; PP-40 mmtig QU V&
Alil) MAP -l_g_!}mml-lg; PP-38 mmHg 3
(iv) MAP -110 mmHg: PP-38 mmHg
A 4g_¥_,ear old man came to medicine OPD with complain of weakness and
5 with day to day activity. His blood examination report revealed

Hemoglobin 9gm/d!. Reduced function of which of the following is the reason
r low obin levels in this man? ‘
(i) Spleen (i) Cartilages | fiii) Flatbones  (iv) Long bones

What is oxygen saturation of hemoglobin? Dese

OxXygRen transport in blood. Describe in br

hemoglobin dissaciation curve. Write the salient ph

fbe the mechanier
of regarding oxygen
ysiological

differences between oxygen hemoglobin and oxygen myoglobin

dissociation curves.
Write short notes on:
(a) Dietary fibers
(b) Glomerulo-tubular balance
(¢) Peptic ulcer disease
(d) Renal clearance

Explain the physiological basis of following statements:

(a) Tubular maximum (Tm) for glu
than the calculated value

cose in practice is actually less

(b) Surgical resection of terminal part of small intestine may cause

megaloblastic anemia

(¢) Plasma bicarbonate level rises after food
3K 2=

Multiple choice questions (Select most appropriate option):
(a) This is a radiograph from 2 patient with bilateral ureteric
obstruction leading to hydronephrosis. The GFR was also
_reduced in this patient. Which one of the following pressure

&

®)

change is responsible for lowering the GFR?

glomerular hydrostatic pressure

i) Tncreased glomerular oncotic pressure.
(iii) Increased Bowmen's capsule hydrostatic pressure.
(iv) Decreased Bowmen's capsule oncotic pressure.
A normal healthy subject makes an inspiratory effort against closed
airway, you would expect following to occur:

(i) Internal intercostal muscles contract
: pressure becomes more negative

- (ii) Intrapleural more
W] Pressure inside pulmonary capillaries falls
“(iv) Alveolar pressure falls more than intrapleural pressure

-h of the following conditions lead to tissue hypoxia without
alteration of oxygen content of blood:
(i) Carbon mono-oxide poisoning

.whitecoatwritings.con.
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Note: Answer all the guestions.
Section A: i & 44 -
a'. a:mmmmmdmvtkm:mm mav.’..;,“‘ 7.“',;‘:;;":"" ockniidak . hp‘ s “ ¢ ““j."wﬂ'ono: . (545=10)
(42 = 30 marky)y YOS a) Hem wol (el

Q2 Write short notes on.
%ﬂu'"__m-n'

b) Ovulatory cycle, -~ _
) . (4443=8)

(3t 12 marks)
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. with the help of 8 abeied diagram outline the Qrigi. COUrse and termination of the
f Sricospinal tract ) What are the funstions of the (ract? Write the effect of lesion at y ) f 1]
e ' 1 . 1) Masvs
¥ & Jevel of the ‘E‘S,'_“,‘ff_a‘.’ﬂ‘k (3+43-3=11) jo toy UOL SEPAHATE LRSWERBUOKS Of EACH SECTI
| W H EECTIOR,
N SHUTI0 N- At Phy ¥
@  the Iormone secreed by the amerot pituitary. Describe the functions and 6 Eeele Pl s oom Harks- 3%
Enumerat : LE “ite oriefly blood clot Vs
3 ; wih ne. What 1s acrome aly? (A4+3+2=9) 2 Sl RRad 20
2 of secretion 0fgro hormo! 2 oo the clinical inportance of each s;;‘at:;tiing =i '(,wha“‘
regulatio . +3=0
- afine Blood-pressure, What ar
i S B et © /4= . What are the different
3. Write the mechanism of {he following; row. Descride triefly ghort temm reé"“li't;gg ol;rgi-%ures g
a) Ovulation =
R A o prsed
el Localiration of the direction of sound
1 - ey - e

242+ 2 =9 g
4. Explam the following.

Lyidvatior coiit . e
o ¥ ard o ol av i ©

» Mwretions of b:c; oi}l;e;g:plin(
(.{\" 2y i

" soxtodic breathing
£ : L. iwe the f e o
a) Why knee jerk is exaggerated in upper MOLOL peuron lesion’ = “‘;";§cwiexg‘:hy510b£’1 cal expiaznation for zny two of the
s @ Why osteoperosis is more cammen in old women? ‘ . toak -5
- ; ! : . ~aj taers 18 incressed R :
¢) How the mid-brain areas are responsible for consensual light reflex _b) Bile salts help a.bso:;gig?tﬁnprite doring exercise.
1 3
e Areanarcy dre iess in ursing nothiers” o) vhen the ekin is st y
4 Wy the chancesof regnasc ire o3 I IHEEEE there is TRIPLE HES fokia Saaly v.U) goelnted object,
5 Write short notes ot sall wwing SR SECTION-B; Rlophypdcs Marks-15
4y Relasin 1 aFoues Loly of Popnants prin
cAViaIn 5
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/| frace clemeis M Jiet
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e

ciple of mauhrane equilil
e 5
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witbent o1 body varies nt;\ 1
rite in brief on the Lilowing:

‘2 iung complisnce in RUS.

b} Reymold's muaber and o2
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USE SEPARATE ANSWERHOOKS FOR EACH SECTION

Full Marvs;sg

srious fectors influencing erythropol

orp!
0 " Md and

sisClagsify anemia on

L -
=3
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SEOLION- A: Phys 10logy s e how
Describe the Lead II of Electy | — s
@ and incomplete heart block’?c trocardiogram, What 1s °°"'21§te 0 o0 notes on: )
+ short :
Dis t Y Wiee S | barrier
@ bln::;::? be physiology of micturition, What is Automatic 3 a) Gastric g
7+2 Vs C\'mc“:is
Describe the cardio respirator: @ e iy
Y changes ¥ tral on .
@ sxorgn. What 18 oxygen Debt ang ,.ucongiﬁgg I:Oderatg+2 20 M |
4, Give physiological explanation for i of the following.
the following(any ot ical explanation for any two arterial blood.
4 gu;g.lﬂ) 4 GiveP ystzl;?:value of venous blood is more than that of ’

(a) Oxygen administration

hypoxia,
\()f Decreased surfact
collapse of alveo

is of little value in histutoxic
ant
v concentration 1in lungs leads to

0

ycmdiac muscle ¢

v
emal
g/zlmue inside the Loop of Henle is most concentrated at the tip.

Pyloric gastri
: Bkeletal_s ¢ antrectomy can lead to bypochlorohydrt «.
o expenditure during smooth muscle cq ion — B: Bio ics :
les:sihan during skeletal musecle oontr:cggg:faction 2 8 Marké-15
SECTION-B: Biophysics
/ Marks- 15 b ing Hiophysical pnnciples:
\#¢ Discuss Donman's . i wniet on the folioviarg P =-
Belp of this prineipre.’ eepsas  BOrONe equilibriun, With th o jal and its physiological significance.
of the body varies with prr 0 M¥ total electroljte content (s) Action Potential a1CHS P -
\ 2+4= % ¢ pressure, Hiow and resistance in a cizculatory system.
2. Write short notes on: {b) Rolecip: d Lt
3x3=9 (c) Leng compliaince a pulmonary empiysemea.
: vions of Biolcgical Membzranes.

(a) Work of bre

th
| Tonicity and ing in emphysena.

teipe .

(d Structure and fur
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M Scmgatcr MBS Sessional D xamination

1
- : " (Deccmibrer, 2008)
. 3 siology incl 22 Biophysics
sour 2 .
RS Note: Use separate Answer books for each section
ction A IYSIOLOGY
.be various events of cardiac cycle in reference (o paramcrers that are related o the
o Pt functions. Illustrate with suitable diagrams 1121
¢ sriculs
2 .
. motor unit. Describe the properties of motor units 2iid explain the phenomenon of
2 e < 5 nt o { ‘(.‘
wscribe the neursl and cheanical control of ot I MOV recruitme
B s e s S A a & 5 escribe the stages of eryths Mention the factcrs affecting erythropoiesis at
echaernism and Glomerulo-Tubular | - ferent stages. Name the indicators of bone manrow funcucning un
+ snc - > 1 o D : (n T TEE Y =3 2
aE rrerence fbetussen the Ot Explain the following statements ing reasons 2 X 10 = 20}
4 o = Application of external Ca’’ increascs the contraction of cardiac muscle but not the

rite the

g Innate Iimmanity s
bstructive aundice
<) 2 B and action poctential

as active Trans

and scoaired Immunity

end Haemolytic skeletal muscle
Hyperpolariza on-activated cyclic nucleotide gated (HTN) channels are essential for the

®& 3 = ;
—~' inipation of SA node acti
Grinz exercise, ventri

ity.
lar systolic time can not be reduced lesser than 0.17 sec.

Receptor potential
Primgry sctive traasport and secHhrndary
e

. c
A= e SUOCY RO On s a er in arterial blood than venous blood
Functions of Platelets < ncreases gl(iv\cn 12 N rat
nsensible aerspiration i is not prescutin tive urnine of i individuals
T therapy 7 Ststraciive jaundive clorting tinnc <is proionged.
= h Voluntary hyperventilation leads to Cheyne-Stokes type of breathins
ne after meals.

2
3 Hyperbaric xXyeen
Marks— 1

SECTION-_B:Blophysi-~=s
following bilophysical

Urine becomes alk
Apnes is observed when PCO; decreases below a critical level

proce
= on

brief on the
i maximum Jor glucose

irculstory

Describe in

resistance in »

1. Roi= of pressure, flow and
5. Lung compliance in pulmonary emphysema. “ b -esral regulation of Respiration
3. Acticn potential and 1ts physiclogicael significance. ¥ A © Platelets
" d Gasiric HCI secretion
4, 2igni ficance of Tonnan's memirane ecquilivriaom,
Section B- BIOPHYSICS
Maximum Marks = |

Discuss how resting membrane potential 7: generated and maintained.

Write Short notes on
Role of membrane proteins in membrane transport

a
b Membrane fluidity and factors affecting jt
c. Membrane excitability

Dy
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